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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I- I would like to compliment Jaden for the course of action he recommended because |
think it will ~=--eeeee- our problem once and for all.
1) sequence 2) speculate 3) signify 4) settle

2- An -—-eeeeee- -- is often expressed as a simile, as in “The football game was like a battle
between gladiators.”
1) endeavor 2) invasion 3) analogy 4) arena

3- Do you know of an alternate route we could take to ---——--——--— having to drive through
the city?
1) circumvent 2) delight in 3) partake of 4) suggest

4- My political science professor presents her lectures in a relaxed manner using -
rather than elaborate language.
1) loquacious 2) colloquial 3) literary 4) inflated

5- My uncle, a farmer, is an ------—-—-- pessimist when he discusses the weather. For

example, if the sun is shining, he’s sure a drought is beginning; if it’s raining, he’s sure
his crops will be washed away.
1) initial 2) instant 3) immutable 4) interactive

6- The pharmaceutical company had to --—----—---- its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.
1) repudiate 2) enhance 3) distribute 4) replicate

7-  It's an - to their friends as to why the couple broke up because they seem
perfect for each other.
1) interference 2) inference 3) alteration 4) enigma

8- Mr. Baker has decided to move to a big city because of a —--eeeseee= of employment
opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth
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9-  There are many good reasons for not smoking, but those having to do with health are
the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
-—-- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

10-

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemmemme- the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -==-==nmv-- it is quite
possible that it began earlier. In September 2018, scientists (13) ------renmm- the
discovery of (14) —==eemmeeeen by Homo sapiens, which is estimated to be 73.000 years
old. much earlier than the 43.000-year-old artifacts (15) --=--=------ to be the earliest
known modern human drawings found previously.

11- 1)are 2)is 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Modern physicists do not regard time as “passing™ or “flowing™ in the old-fashioned sense,
nor is time just a sequence of events which happen: both the past and the future are simply
“there”, laid out as part of four-dimensional space-time, some of which we have already
visited and some not yet. So, just as we are accustomed to thinking of all parts of space as
existing even if we are not there to experience them, all parts of time (past. present and future)
are also constantly in existence even if we are not able to witness them. Time does not “flow™,
then, it just “is™. This view of time is consistent with the philosophical view of eternalism or
the block universe theory of time.

According to relativity, the perception of a “now”, and particularly of a “now™ that moves
along in time so that time appears to “flow”, therefore arises purely as a result of human
consciousness and the way our brains are wired, perhaps as an evolutionary tool to help us
deal with the world around us. even if it does not actually reflect the reality. As Einstein
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16-

17-

18-

19-

20-

himself remarked. “People like us. who believe in physics, know that the distinction between
past, present, and future is only a stubbornly persistent illusion™.

What is the passage mainly about?

1) Time as a sequence of events

2) The philosophical view of eternalism

3) Einstein’s remark about the passage of time

4) The concept of time according to modern physicists

The phrase “laid out” in paragraph 1 is closest in meaning to ——-—-—eeeeee,

1) arranged 2) constructed 3) conceptualized  4) amassed

Which of the following statements is true?

1) We can experience a part of space but not a part of time.

2) The block universe theory of time tells us that time flows.

3) Humans can experience the existence of both time and space in their totality.

4) All time is in existence, although it is not experienced by human beings.

Which of the following statements is true?

1) Evolution has played an important role in our understanding of a present time.

2) The human brain is wired in such a way as to say that time does not “flow™, but it just
1"

3) To ordinary people, the distinction between past, present, and future is a misconception.

4) To a physicist, the distinction between past, present, and future is a meaningful
concept.

The word “it” in paragraph 2 refers to - .

1) relativity 2) an evolutionary tool

3) the world around us 4) human consciousness

PASSAGE 2:

You can’t get much smaller than this: Physicists have fashioned a mirror from a single
atom. The advance might lead to an atom-sized transistor for light, and experts say it
bodes well for broader efforts to shrink optical elements to the nanometer scale.

“In terms of the basic physics. it's incredibly cute,” says Christian Kurtsiefer, an
experimental physicist at the National University of Singapore. who was not involved
in the work. “It’s a very striking effect because you wouldn’t necessarily expect that a
single atom would exert a lot of influence on the flow of light.”

In fact, the atom effectively reflects less than 1% of the light that hits it. So to detect
the reflection, Gabriel Hétet. Rainer Blatt. and colleagues at the University of
Innsbruck in Austria relied on a wave effect known as interference. They fashioned a
device called a Fabry-Pérot interferometer. which ordinarily consists of two mirrors
facing each other. Laser light of a fixed wavelength shines on the back of one mirror
and some leaks through the mirror, entering the “cavity™ between the mirrors. A small
amount of light then leaks through the second mirror, while most of it reflects back
toward the first. The reflected light can make multiple roundtrips between the mirrors.
Each time, a little more light can leak through the second, farther mirror.
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21-

23-

24-

25-

Which of the following is the best title for the passage?

1) A Wave Effect Known as Interference

2) Physicists Turn a Single Atom into a Mirror

3) Fashioning a Device at the National University of Singapore

4) An Incredibly Cute Experiment at the National University of Singapore

The word “bodes” in paragraph 1 is closest in meaning to ---—---seeeeee- ,

1) evolves 2) predicts 3) rises 4) exists

Which phenomenon did the scientists at the University of Innsbruck rely on?

1) Interference

2) Atom-sized transistors

3) Exerting pressure on an atom

4) Shrinkage of optical elements to the nanometer scale

Which of the following statements is true about the Fabry-Pérot interferometer?

1) The reflected light makes several roundtrips between the mirrors.

2) Laser light of a fixed wavelength first enters the cavity between the two mirrors.
3) Laser light of a fixed wavelength first goes through the surface of the first mirror.
4) It consists of two back to back mirrors.
The word “it” in paragraph 3 refers to ----
1) a little more light

2) the second mirror

3) a small amount of light

4) the “cavity” between the mirrors

PASSAGE 3:

Twenty years ago. physicists with the Dark Matter (DAMA) experiment in [taly’s
subterranean Gran Sasso National Laboratory announced they had detected particles of
dark matter—the mysterious stuff whose gravity presumably holds the galaxy
together. Now, the first experiment designed to directly test DAMA’s controversial
claim has released its first data. Physicists working with the COSINE-100 detector in
South Korea say they see no sign of dark matter—but still need a couple more years to
really put the screws to the DAMA claim.

“They can’t rule out the DAMA signal yet.” says Katherine Freese, a theoretical
physicist at the University of Michigan in Ann Arbor who is not involved in either
experiment. “But the exciting thing is that they’ll be able to rule it out.” Or, as may be
less likely, confirm it.

Astrophysical observations show invisible dark matter makes up 85% of all matter.
Our own galaxy is thought to reside within a vast cloud of the stuff. However,
scientists still don’t know what dark matter is. For decades, experimenters have hunted
for particles of it floating about, mostly to no avail. To search for dark matter,
physicists deploy ultrasensitive detectors deep underground, where they are shielded
from cosmic rays and other background radiation.
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26- Which of the following best describes what the passage is about?
1) A new experiment casts doubt on controversial dark matter claim.
2) ltaly’s subterranean Gran Sasso National Laboratory has made false claims.
3) Physicists working with the COSINE-100 detector say they have detected particles
of dark matter.
4) Katherine Freese and her colleagues at the University of Michigan have made
controversial claims about the Dark Matter.

27- The word “its” in paragraph 1 refers to -------eeeeeeee,
1) gravity 2) the first experiment
3) the mysterious stuff 4) DAMAs controversial claim

28  Which of the following statements is true?
1) Astrophysical observations show cosmic rays make up 85% of all matter.
2) To search for dark matter, physicists are doing underground experiments.
3) Katherine Freese is almost certain the physicists in South Korea will prove the
existence of DAMA.
4) Scientist at the University of Michigan in Ann Arbor need to more years to finish the
experiment.
29-  The phrase “to no avail” in paragraph 3 is closest in meaning to -—------=--=--- "
1) by all means
2) without suffering
3) without success
4) with no interruption
30- The passage is most probably --——--eeeeeeeee,
1) the abstract of a scientific paper
2) part of an encyclopedic article
3) the literature review section of a scientific paper
4) part of an article in a science journal
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